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/10 / x 100
3-15-15[ 819 922 627 200 248 179 723 913 241 394 83 25 75 0.037
9 6-15-15[ 819 922 669 203 288 208 723 946 242 474 100 30 7.6 0.000
9-15-15[ 818 923 669 198 292 222 760 912 238 482 102 35 82 -0.148
12-15-15/ 820 927 724 196 361 267 739 919 232 56.8 120 40 84 -0.444 *
3-15-15( 817 921 723 207 287 219 762 899 244 481 86 20 72 -0.276
10 6-15-15( 818 923 731 207 330 259 783 90.7 237 558 100 33 74 0.000
9-15-15/ 819 924 747 211 364 288 791 898 236 612 110 23 74 0.172
12-15-15/ 819 926 749 211 397 322 810 884 230 655 117 25 75 -0.138
3-15-15[ 822 928 691 195 260 185 709 901 256 426 90 15 7.3 0.091
11 6-15-15[ 823 928 713 198 305 223 732 863 246 474 100 20 79 0.000
9-15-15( 823 929 764 197 327 241 736 823 244 483 102 40 81 -0727 **
12-15-15[ 825 101 767 208 374 285 763 774 230 50.8 107 8.0 9.0 -0545 **
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